F18E LEBKXFEF - KFA—T2 - VI bR—ILKXE

x%ﬁ% 20214781780 (+) ~18A (A)
[BFDE)
(FE)—Y)
AEBKIE (KHETTH FEBKS)
FEAY—Y REXZE Em K= BARBALKREA B a 3= Bz
1 RREXZ (Frim) ® 3813 ® 19 0 2 0 3
2 EMKRZE (%) O 13-8 ® 0-14 1 1 2 2
3 E'**E:U‘f"‘e (B0 o 91 o 140 2 0 4 i
BEkim (KETHFEBIEB)
&B—4Y ELXE BHIKE BAEIKXEB i3 a % = JE 5z
1 EWXE (1) ® 6-17 ® 0-13 0 2 0 3
2 BRARE  (BH) o 17-6 ® 24 1 1 2 2
3| BABHERTE @m0 130 0O 42 2 0 4 i
Bb=24
AlF=04
Bla=1m
(GREEE—F A R) (FHEHE)
HAEIULKREA
7 | 3 EIpN:
7 1 1 11 6 7
5] =]
z % 5 x £ B
by 4 M by ] i
x x x x x x
2 ¥ ¥ = % %
A B
[ZFDER]

HEFPETH TIUBERENEELI-F-HFLE




